PGC 044906

arcsec
FTTT T TTTT FTT T T TTT T \\\\\\\\\‘\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\
| h= 13" ]
B | ]
| h= 26"
| h= 51" |
I
B | .
| ]
:rbar .
|
|
I
I
|

10 20 30 40 50 60
Radius (arcsec)

(@) O
@ @
n ()]
o o
© ©
-60 -40 -20 0 20 40 60
arcsec
60 g 0.70
| 1 1.0
I 1Bos2 L
40 - .
| 1110.35 08
20 - - 7
i 114017 i
§ 0 000% G -
m F Lo
- 414-0.17
20 - | 0.4 7
i goss
-40 = 0.2
: -0.52
60 e e 0.0
-60 -40 -20 0 20 40 60
arcsec
A -- | _
A;‘ -= | " 50
Ag ] c 40 :
B =< 30
- -
g 520
" =~ 10-
50 60
10T T 7
A | ]
o 50+ ! ]
GB_)) E + +++++++++++++++++:+ﬁ;:;rr++ +++ E
L+ i
g 0= I ++ N
& | ]
£ -50- | LIS
= B | ++ T+ ]
-100 ¢ ‘ ‘ o ‘ ‘ ]
0 10 20 30 40 50 60
Radius (arcsec)
1 40 7—\ T T T 1T T 17T T 1T T T 17 T 17T T 1T T T 17 T 17T T 1T T T 17 T 17T T T 171 \476»
120 - Vhaio ]
I V3.6um ] i
100 - Vi : 08
- i g
w 80° ] 0.6
I ] C
= 60— — i
I ] 0.4
40 - 7
I ] 0.2
20 - .
: rbar :
0 I I I O | ‘ I I I O | ‘ I I I O | ‘ | :\ I I O I B | ‘ I I I | 7\ 0-0
0 10 20 30 40

Radius (arcsec)

0 20 40 60
Radius (arcsec)

Q,: 0.54*0% AP 0.69

rqp - 21.8_ 45 arcsec . 21.8 arcsec

Qpatocorr . A(r..): 0.63

rgetl)lo—corr . ATaX -

Qo . 0.54 Vigwm @ 40.07 5 km/s

rbar—only .
Qb

: 15.8 arcsec

max

rzeum - 45.75 arcsec

(Qar-ony)halo-corr .- Vieum(Rop) © 39.67 77 km/s

(rear-onlyyhalo-corr . drVaeum(0) © 29.17 J3 km/s/kpc

Qq(ry,) : 0.447 03 M/M.(<R,,) : 6.20

QEleee(r )1 0.10 a: 9.3kpc

e: 0.62 V_: 117.5km/s

= Q |
— Q_r|1_alo-corr i
- Q_t|)_ar-only 7
_ Q_tl)_ar-only&halo-corr ]

~ -
\\\\‘\\\\\\\\\‘\l\\\\\\\\T\"_\H\-F\-F‘*\#-\Hh—l\

[

0

10

20 30 40
Radius (arcsec)

50

60



